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A & 0l & AF 2 E A A
20228 & =04 LBHSIH EXR X
fAM: EXNFXID
M ENRA
@ EUSsI L8t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ST= X 9,344,276 23,824,441 A 14,480, 165
= 23,343
= 2,078,765
Al 7,242,168
Eh=X 3,713,565 270,092 3,443,473
= 23,343
< 1,005,874
Al 2,684,348
SNSRI 23 195,525 142,692 52,833
= 23,343
< 3,874
Al 168,308
SXIY N2 N3 H 2435t 42,012 41,200 812
201 et 29,932 31,120 A 1,188
01 AIS 22l H| 17,932 13,120 4,812
O Et==EH| 13,822
oMRES 7Y 1,200,500& *43| 4,802
o JIERI EE=S M 920,000& *43] 3,680
o2& EH MH 460,000 *43| 1,840
o JIHEEANAY S ===  3,500,000& 3,500
022+ 2,080
o EARIAZ 4 L HMrEH
130,000& 4 H 43 2,080
O=&l 2,030,000 2,030
03 &AL S HI 12,000 18,000 A 6,000
O&e® SEXNFI A M= 12,000
oMOUMZ & Xt €F3 12,000
-2AE ENRX 4935 FIHEEZR2E)
3,000,000& 3,000
- MEEX EXUFX MU HZ
600,000& x53] 3,000
-SRI 288 NEHA
2,000,000& =33l 6,000
202 44l 10,080 10,080 0
01 SLHOIYI 10,080 10,080 0
OJIgRX g2 =4 10,080
o MAEX JIYRIES FRFA
4,535,000 4,535
o0 JIYGRX FXS RAE 2HII2 JLEY
2,245,000 2,245
o NEEXNFIANEERZ 4o 2d JRFZ
1,700,000 1,700
o 23 EXNRX ¢Egs FH4A 1,600,000& 1,600
301 LptR M3 2,000 0 2,000




fAM: EXNFXID

g EXNFA

@ EUSsI L8t (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIX A S 2,000 0 2,000
OZE EXNRI A A 2,000,000& 2,000
SXDGNIA(FEFY HdA LRl N)(EX) 53,513 101,492 ANAT,979
= 23,343
< 3,874
Al 26,296
307 21201 A 53,513 101,492 ANAT,979
= 23,343
< 3,874
Al 26,296
02 LAFAAFEX 53,513 101,492 AAT7,979
OFEHY AL Xel XA 42,713,000 42,713
= 23,343
S 3,874
Al 15,496
OFEAFHIAANL R 4HEE = 10,800,000 10,800
dEtd MIIESH N 100,000 0 100,000
308 XXM SOIA 100,000 0 100,000
N 3JN2SUHUe3AHAE A 100,000 0 100,000
Oz Ed HIIESH MW 100,000, 000& 100,000
AXNFX 2 =& 3,518,040 127,400 3,390,640
< 1,002,000
Al 2,516,040
ANFI &S 19,040 12,400 6,640
201 et 12,540 11,400 1,140
01 At 22l 12,540 11,400 1,140
OB ==EH| 11,140
0 AXRA EESE MIA(HWEX M 5)
2,500,000& 28 5,000
o ZaJY ==X YRFX 2H =35 +
S (PTHI &, ZEei5tE S)  2,500,000& *23] 5,000
o AZUEXX L HIOIH 82 SHA
1,140,000 1,140
O=Etl 1,400
o AXNRA 2= 1,400,000 1,400
202 44l 1,500 1,000 500
01 = LH 4 b 1,500 1,000 500
ORI gRF2 1,500
0 4EXNY ¥ YSIIYRK YL
1,500, 000& 1,500
301 LEMZ 5,000 0 5,000
07 2BI=& 0 bl 5,000 0 5,000




fAM: EXNFXID

g EXNFA

Sl ANRK YL =X (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O2U2AJY EXNSX (MBI ) E&H3|
5,000,000& 5,000
OHRIAIE THE A X & 160,000 115,000 45,000
308 XNXIEHMSOIA 160,000 115,000 45,000
11 BIZ2SUHUSHEAEAE A Y| 160,000 115,000 45,000
O228ANE JNE LFE 0HE X3 AH
60,000,000 60,000
OHAANEINE (K220 TAIAES ) AHY
60,000,000 60,000
OEA)|Y ===2FH N& AL
40,000,000 40,000
Z2HUKEAXNE E=22 SSAY (202 EH XS )( 3,339,000 0 3,339,000
82X)
& 1,002,000
Al 2,337,000
308 XHXIGH SO0l & 3,339,000 0 3,339,000
& 1,002,000
Al 2,337,000
12 JIEIE Y= 3,339,000 0 3,339,000
Z2HUNKRSEXNE E=28 =5 AIY
3,339,000,000& 3,339,000
& 1,002,000
Al 2,337,000
MY - sBEHI X4 L 2H 4,615,065 7,801,598 AN 3,186,533
& 1,072,891
Al 3,542,174
SSHE MG 3,967,747 7,218,720 N 3,250,973
& 1,072,891
Al 2,894,856
Jlgsd ¢ X 149,800 122,200 27,600
201 gEt24d| 134,200 119,200 15,000
01 AFR2 22| H| 119,200 119,200 0
O =2H| 7,360
oZHIEZH El4 Y 920,000& 920
0 ZAJY XN & BHALEY MEANRE
Ol A4 1,840,000 1,840
0JIXE ALEH ASEE P
230,000& x12& 2,760
0 JIgXR EL2=X o [
460,000 *43| 1,840
[ PE=2=3:] 1,840
o JgEX S gR2FX 1,840,000 1,840
Oz 110,000
o 2L 2FIY 22X EE2HA 24
110,000,000& 110,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 15,000 0 15,000
OSZ LY F 2 AOILE 15,000, 000& 15,000
202 (44l 4,000 3,000 1,000
01 S LHOYI 4,000 3,000 1,000
Oz24ds =4 2,500,000 2,500
OJ1gel 2tesl s g2F2 1,500,000& 1,500
301 LPEAZF 1,600 0 1,600
09 HALAMHIXI &3 1,600 0 1,600
OSZXety E2 AHOIL 1,600,000 1,600
307 21201 A 10,000 0 10,000
02 It S AHE L 10,000 0 10,000
O=U =&s It NIAY 10,000, 000& 10,000
gsd & XN (EX) 323,000 312,000 11,000
< 97,000
Al 226,000
402 BI2EX=01 M 323,000 312,000 11,000
< 97,000
Al 226,000
02 QI EAILS EZ (OIS ) 323,000 312,000 11,000
O=201gY S3ME A 323,000, 000& 323,000
< 97,000
Al 226,000
ey NA(s NEXHA) 205,000 55,000 150,000
308 XXM SOIA 150,000 0 150,000
N 3JN2SUHUe3AHAE A 150,000 0 150,000
o=l sJ Jls D=8 N2
150,000, 000& 150,000
403 XIS E =0l & 55,000 0 55,000
02 S 2SO0 HEAHEE 2 E AL H 55,000 0 55,000
Ox20Y e ANAY RSN
55,000,000& 55,000
AP S JISAF SRR A (AL )(EX) 350,000 0 350,000
< 200,000
Al 150,000
307 glz2tol & 350,000 0 350,000
< 200,000
Al 150,000
02 It M AHEE 350,000 0 350,000
OJI=AE LR XJ A 350,000, 000& 350,000
< 200,000
Al 150,000
Jl=Ab S XX 50,000 300,000 A250,000




fAM: EXNFXID
MM M9 =3OX Z4 2 29
ool TorEss (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 50,000 300,000 A 250,000
02 PIZHEHAHEE 50,000 300,000 A 250,000
OJIsAH X NJAY 50,000,000& 50,000
+ES)IH 28 BENCS N2MEHH 2SAS (R 1,167,500 1,167,000 500
x)
< 571,000
Al 596,500
306 ¢ 2 1,167,500 1,167,000 500
< 571,000
Al 596,500
01 &3 1,167,500 1,167,000 500
O=E=)H 28 SE20Es NJMEAH 25
1,167,500, 000& 1,167,500
< 571,000
Al 596,500
SEX AIUESHEH tMBIES 2F 8,000 189,000 181,000
201 Let24d] 8,000 0 8,000
03 A2 S HI 8,000 0 8,000
ORI EZINRINASHE HEEIIS H2A
8,000,000 8,000
ANsg 2sd Mz HEMS(2HEEXH) 150,000 0 150,000
402 RI2FRt20l ™ 150,000 0 150,000
01 2IZt Xt 2 AL E = (REM &) 150,000 0 150,000
OXs8 &Ed ME=2X LAY
150,000, 000& 150,000
s3HX 243 XA (BX) 512,227 873,520 A 361,293
< 204,891
Al 307,336
301 LEEAS 512,227 873,520 A 361,293
= 204,891
Al 307,336
12 JIE 243 512,227 873,520 A 361,293
Os2HX 243 XNBAY 512,227,000& 512,227
< 204,891
Al 307,336
ANsxatey sAX(E ZEXH) 1,000,000 300,000 700,000
308 XtXIEHH SOl A 1,000,000 0 1,000,000
N 3IN2SUHUEB LS A 1,000,000 0 1,000,000
ONESA SEHUE B35 NI AMY
500,000,000 500,000
00T AMEE SIS JSHY X
500,000,000& 500,000




2AM: EXNS XD
M MY 52O Z4 U 29
el BeEss CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
AMACTT] SADSY FEHADNEH XNANS (2R EH X 52,220 0 52,220
2)
308 XX SHAMSOIA 52,220 0 52,220
M 3IN2SHUHSZEAHAE ALY 52,220 0 52,220
OMPEHT SA0/Y dEusSH NALY
52,220,000 52,220
| 647,318 582,878 64,440
Arctate] 29 452,118 582,878 A 130,760
101 @121 53,900 53,900 0
04 JI2ZtH 22 XNHEE =+ 53,900 53,900 0
OMYSHT M=EzoEN 53,900
o Bl=D] & 27,000,000& 27,000
o JIZ25e XA 4L 2e 15,000,000& 15,000
o M=H & 9,476,000 9,476
o MMMEE = 53,862,000& *4.5% 2,424
201 et A | 115,950 121,458 A5,508
01 AFR2t2l Yl 12,852 18,360 AN5,508
OEEIES- 2] 4,600
o MEHEIZ] HREF ASBE 7Y
,600,000& 4,600
O=2 | 1,760
o AtEt2te] HRFA 1,760,000& 1,760
[ DRINE=] 6,492
oMt (=3 )Xl s257 HUILU(HE,
S=2E23, HIIS2S) 6,492,000 6,492
02 3524t 103,098 103,098 0
O3 L HA 76,200
o MEHX JtES, BEo¢tS MIIR3
6,000,000& =12& 72,000
o AMHHCEX JI2Ss SA2Z2 300,000 128 3,600
o Mot 22 50, 000& *2JH A~ *x63] 600
OAEEH S XY 21,378,000& 21,378
[ D= Fal=lasll 5,520,000& 5,520
202 04| 2,268 2,520 N 252
01 2LHOHI 2,268 2,520 N 252
Ot RF=A 2,268,000& 2,268
206 TH 2 HI 13,000 5,000 8,000
01 = bl 13,000 5,000 8,000
OMSHEZEHE MZH 42 7Y
5,000,000 5,000
ONMYSX SEI| HEM P (XA
400,000& x20= 8,000
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fAM: EXNFXID
Ha: MY 52U E4 U 29
el steraEe CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 150,000 0 150,000
01 AL ESFH S 150,000 0 150,000
OUSHSSUE &I U HERY
150,000, 000& 150,000
Hees(SEXNsI) 995,846 15,727,551 214,731,705
WEHAXS(ENFL) 995,846 15,727,551 214,731,705
WEHHXE(FXRHSFX) 995,846 15,727,551 214,731,705
701 JIEtSI HEHES 595,846 15,427,551 A 14,831,705
01 JIEtZIHEES 595,846 15,427,551 A 14,831,705
OsZXN2ELEEE3H B&E= 595,846,000 595,846
702 )1 SEEZS 400,000 300,000 100,000
(O RIE=RSE= 400,000 300,000 100,000
OS2I YEHIIS dES 400,000,000& 400,000
HY2HAH (SRR L) 19,800 25,200 5,400
J2ZHI(EXR X 2) 19,800 25,200 A5,400
Jl2ZH (EXS X D) 19,800 25,200 A5,400
202 O4dl 16,800 21,600 A 4,800
01 = LH 4 Hi 16,800 21,600 A 4,800
OZEEZ 0 100,000 *14H «12& 16,800
203 YR =& 3,000 3,600 A 600
04 NI 3,000 3,600 A 600
OSF X=Xt 250,000 1228 3,000




